Signature and Name of Invigilator

1.

2. (Signature)

(Signature)
(Name)

(Name)

J—5505

PAPER —-1I

Time : 1¥4 hours]

Answer Sheet NO. : .........ccccovveencnceneneneeeneineeene
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

Test Booklet No.

LABOUR WELFARE &
INDUSTRIAL RELATIONS

[Maximum Marks : 100

Number of Pages in this Booklet : 16

Number of Questions in this Booklet : 50

N

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table etc., is prohibited.
12. There is NO negative marking.

Instructions for the Candidates

Write your roll number in the space provided on the top of

this page.

This paper consists of fifty multiple-choice type of questions.

At the commencement of examination, the question booklet

will be given to you. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it
as below :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and do not accept
an open booklet.

(ii) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will be
given.

(iif) After this verification is over, the Serial No. of the
booklet should be entered in the Answer-sheets and
the Serial No. of Answer Sheet should be entered on
this Booklet.

Each item has four alternative responses marked (A), (B),

(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Brample : (2 ® o

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark
at any place other than in the ovals in the Answer Sheet, it
will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the
test booklet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render
yourself liable to disqualification.

You have to return the test question booklet to the
invigilators at the end of the examination compulsorily

and must not carry it with you outside the Examination
Hall.

TiteriEt & fog faer

. % g8 o SR T T W A9 e TR faten |
2. Y- § g Sgfashedtd g ¥
3. e IR B W, Yo~ YRRt ST9eR! < < ST | TR di e

SAMYehT Y-kt T deT SUeh! Frretfetfaa sife o forg fed

SR SreehT S STTeRT 79 HE T

(i) weA-gfaer Wie % T 36 Hear IS W TR HITS
el & HIE o | el g8 A1 T We-a it gl
THRAH |

(i) AR IY WY HEITTER Uy=- ekt o IS a2 U9 aht
HEAT < 3Te ¥ ook Y ot foh AT | Srogut gfeent
T g/ o ohw & T e O T & A e A E
reria foret oft weR Rt Ffequt gficert wite T st qem
S A I TAEToRT 3ok T UR G Tl UoT-gaent
Ao | TR FoTw et e fire fed s | Seeh sg =
T ST Yy-YfereRt aruw it el 31X T & Staeht
Sifafs v fear s |

(iii) T = % 1S ToH- YRR i HH HEAT STk W Sifh
i TR ST ! HH HEA 39 Te7-Tfeht W 3iferd
K

T U9 % fT 9IRS foshed (A), (B), (C) 721 (D) f@ ™ €1

ATIhT T IR o CET Bl U AT BT HEAT © SHT ok =

T T

sarer s CAD e O

&R (C) TE IW T

T o SR heet W9 U [ ok 3Fe e T - veh W SifeRd

HH F | AfE 3T S ek W 3 T e ok et ot o=

T W IW FogifeRd F ¥, A TR JeaienT 721 e |

TS fed T3 Fdent Rl ST gee G |

e M (Rough Work) 30 JRae! o 31f<H g8 W |

I ST SRR TR STIAT A 1 T hlE ot Frrem Forersy stmaent

TedH B Tk, fopdl oft i W gwilfa A sifehd wea § o when &

ford erdim sfer e fed s |

JMIHT JeT THH B W IR-Yfent FRieTs 7eIed &l aier

TeEe § S TiaT TAIY 3 o5 ST |ref el e § sl 7

TR ST |

10. SHET Ht / SRl STt TS U9 R & ST e |
11. Tt off Wk hT HITUTER ( heTehele ) AT @IT et 3Tfe <ht

TR afia S|

12. TTeTd 3T o foTu 37eh & sh1e ST |

J—5505 1

P.T.O.



LABOUR WELFARE AND INDUSTRIAL RELATIONS/
LABOUR AND SOCIAL WELFARE/HUMAN RESOURCE MANAGEMENT

PAPER —-1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Who called scientific management thought as a ‘rabble hypothesis” ?
(A) Frederick Winslow Taylor (B) Henry R. Towne
(C) Elton Mayo (D) Louis D. Brandies

2. Match the following :

Name of the Book Authors
(@) Human side of Enterprise (i)  F.J. Roethlisberger
(b) Management and Worker (i) Elton Mayo
(c) Social Problems of an (iii) Rensis Likert

Industrial Civilisation
(d) The Human Organization (iv) Douglas McGregor

@@ (b)) (o) (d)

(A) Gv) @ ) (D)
(B) Gv) (@) @ (D)
(© G @@ @) ()
(D) G) () (@v) @)
3.  Arrange the following aspects of ‘system’ in the sequence in which they occur :
(i) Throughput (i) Output (iii) Input (iv) Feedback
(A) (i), (@), (iv), (i) (B) (i), (i), (), (iv)
(©) (), (i), (i), (i) (D) (i), (), (i), (iv)
4.  Gang Plank theory given by Henry Fayol is associated with :
(A) Upward Communication (B) Lateral Communication
(C) Downward Communication (D) Informal Communication
5. Assertion (A) : Planning prepares the blueprint of action, while control verifies
whether the action is properly taken.
Reason (R) : Control causes a new planning, while verifying the old plan.
(A) (A)is wrong, (R) is right (B) (A) is right, (R) is wrong
(©) (A) and (R) are right (D) (A) and (R) are wrong
6.  Which of the following does not belong to the functional categorisation of Personnel
department ?
(A) Integrated Department (B) Split-function Department
(C) Extended Department (D) Staff Co-ordinated Department
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(D) (@) (i) (@v) (@)
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(©)  (iv), (iii), (i), (i) (D) (i), (i), (i), (iv)
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10.

11.

12.

13.

14.

Decentralization in an organization is achieved by :
(A) Functional Departmentation (B) Delegation of Powers
(C) Both (A) and (B) (D) None of the above

Which part of the wages is governed by the escalatory clause in a collective bargaining
agreement ?

(A) Basic Wage (B) Dearness Allowance
(C) Wage Incentives (D) None of the above

The model of identifying the factors on which selection decisions will be taken is called
as :

(A) Multiple choice model (B) Multiple cut-off model
(C) Multiple hurdles model (D) Predictor criterion model

Arrange the sequence followed in a disciplinary procedure.

(i) Chargesheet (i) Reporting the misconduct
(iii) Awarding the punishment (iv) Domestic enquiry

(A) (1), (), (iv), (i) (B) (1), (iti), (i), (iv)

(©) (), @), (iv), (i) (D) (i), (iv), (), (i)

Which of the following is the correct sequence of management development process ?
i)  Designing Development Programmes

(

(i) Conducting Development Programmes

(i) Evaluating Development Programmes

(iv) Defining Parameters to Development

(v) Identifying Development needs

(A) (i), (D), (@), 1v), (v) (B) (i), (i), (v), (@), (v)

(©) (), (i), (i), (v), () (D) (v), (iv), (), (i), (ii)

Which of the following is not an OD intervention ?

(A) Grid Training (B) Transactional Analysis
(C) Process Consultation (D) None of the above

Which of the following is not a method of Performance Appraisal ?
(A) Paired comparison method (B) 360° Appraisal
(C) Assessment centres (D) None of the above

BARS stand for :

(A) Behaviourally Anchored Ranking Scales

B) Behaviour Aptitude Reaction Syndrome

) Behaviourally Anchored Rating Scales

D) Behavioural Alternative Reaction Syndrome

J—5505 4



10.

11.

12.

13.

14.
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15.

16.

17.

18.

19.

20.

21.

The word ‘Kaizen’, which refers to improvement in performance and productivity has
been borrowed from :

(A) Japan (B) Germany (C) Korea (D) Sweden

Match the following :

List-I List-1I
(a) Frederick Herzberg (i)  Scientific Management
(b) F.W. Taylor (i) Two Factor Theory
(c) Blake and Monton (iii) Need Hierarchy Theory
(d) Abraham Maslow (iv) Managerial Grid
@@ (b) (o) (d)
@) (@) O ) (i)
® () ) @ @)
© O @) @) @v)
D) (v) @) @) 0
Which of the following is the correct sequence of needs suggested by Abraham Maslow ?
(i)  Self-Esteem Needs (ii) Belongingness Needs (iii) Safety needs
(iv) Physiological needs (v) Self-Actualisation needs
(A) (), (i), (v), (i), (v) B)  (v), (), (i), (iid), ()
(© (), (i), (i), @), (v) (D) (), (i), (i), (i), (v)

The stage of vocalisation of the need for change may be termed as:
(A) Stabilisation (B) Proposal (C) Initiation (D) Exploring

The power vested in a leader by a virtue of accepting organisational authority is
known as :

(A) Legitimate Power (B) Coercive Power
(C) Democratic Power (D) None of the above

Which of the following statements is not true ?
(A) A reasonable degree of stability is not required as a setting for planned change

(B) Organised programmes for development cannot function amid extreme social
turmoil or political instability

(C) Systematic planning of projects require predictable patterns, activities and routine
organisations

(D) None of the above

The concept of industrial relations is :
(A) Static (B) Dynamic
(C) Both Static and Dynamic (D) None of the above
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15.

16.

17.

18.

19.

20.

21.

a5 “heT (Kaizen) S T8 Tel Scaeehdl & GHIR 1 AU <, SH o6 <91 § @ <7 & 2

(A) STaH (B) ST (C) It (D) w&Ted
frefafad = gafaa Fifm
-1 qei-11
(a) ek estent (i) SR gered
(b) TH S TR (i) TR =
() =i AR Hied (iii) e e = =
(d) ToTRM HEA (iv) Heirea fire

@@ (b) (o) (d)
(A) @) @) (@v) (i)
B @ @) @) @)
© @O @) @) @)
(D) (@{v) (i) @) @

STITEH LAl SR WATord STevehalaii o1 STIehH 1 § 2

() U TEMW Hew (i) SRTTE Hfed (iii) TR re™

(iv) TramfSeRa fleg (v)  Oo% ThelseisH Hied

(A) (@), @), @iv), (i), (v) (B)  (v), (iv), (i), (iii), (i)

(©)  (v), (i), (i), (i), (v) (D) (v), (iid), (@), (i), (v)
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22.

23.

24.

25.

26.

27.

28.

Who among the following gave a model for industrial relations ?
(A) Harold J. Laski (B) Adam Smith
(C) John T. Dunlop (D) Heneman

Which of the following is not a machinery for settlement of industrial disputes in India ?
(A) Board of Conciliation (B) Labour Court
(C) Collective Bargaining (D) Industrial Tribunal

Match the following :
(a) Conciliation Machinery (i) Indian Labour Conference
(b) Consultation Machinery (i) Industrial Tribunal
(¢) Adjudication Machinery (iii) Arbitration
(d) Arbitration Machinery (

@@ () (o) (d)

iv) Board of Conciliation

(A) @) @) @ G
(B) G (D) (@v) ()

© G@v) @ @) ()
(D) @) (v) (D) (i)

Which of the following provides for recognition of trade unions in India ?
(A) Inter-Union Code of Conduct (B) Code of Discipline in Industry
(C) Code of Efficiency and Welfare (D) Code of Ethics

Revolutionary theory of trade union is proposed by :
(A) Webbs (B) Hoxie (C) Karl Marx (D) Gandhi

According to the Trade Unions Act, 1926 a minor member of the union :
(A) Can be elected as Office-bearer

(B) Can be elected as Office-bearer for one term

(C) Cannot be a member of the registered union

(D) Cannot be elected as Office-bearer of the registered trade union
Sequence the following as per the chronological order :

(i) Formation of ILO (i) Moore Report

(iii) AITUC iv) INTUC

(v)  First World War

(A) (i), (v), () (i), (iv) B)  (v), (), (), (i), (i)

(© (i), (i), (v), (v), () (D) (), (i), (i), @), (v)



22.

23.

24.

25.

26.

27.

28.

sirefirer Ty o fawa § frafafed § 9 o fage 3 & ‘wiea’ fea an?
(A) TS S, AT (B) TueH fmy
() <H 2. =Te (D) A

IRA § TEifiTes foaml w1 Yersm o for frafated § 9 g aefiad (sa) T2 e s wehar
7?2

(A) Yo are (B) 9H =™

(C) wmWfesh Farsi (D) e =mEreE (fesgaer)

% gafer i :
(a) TR HAA (

(b) ORI G (

(c) AdfoRT HI (iti) =T
(d) TR He (i

@@ () (9 (d)

(i) @) () (i)

() (i) (@(v) ()
(iv) (@) (i) (i)
G) (iv) (i) (i
IR H HeIgR WS o1 W=l & Ty H frefafaa § § feass stwaia wraem g & €2
(A) 319" =R Higd (B) 3= H STTeEA Hfga

(C) HEFIIAd Te wHoaro i e (D) Fifaemes T2 Higdl

2

—

(
(
(
(

CREE

TSI G811 wi-aeRl fagr fFrefafed § 9 fre fage & gr fean o «n?
(A) oIH (B) @it (C) hrcd e (D) it

TSI | AT, 1926 % TR Tk HSIgL HH o1 STeqeaeh §ee o foru frefafeaa 9
HITET BT T §?

(A) TR fraifaa & ek T

(B) T o w71 & fow waifererrd faffea &1 ke 21

(C) USTiehd HSIgR TH 1 TGH & &1 Fehall ¢ |

(D) T Usiighd ASIGY 8 o1 GaIfeR faifaa F&f 8 ekl § |

frAfafed 1 waged § HHaS B

()  STE.TA.M. i TG (i) TR

(iii) 3.2 E. T T (iv) STE.TASFHL. it T
(v) 9¥H fava 45

(A) (i), (v), (), (iii), (iv) (B)  (v), (iv), (i), (ii), (iii)

Q) (i), (ii), (iv), (v), (i) (D) (iv), (i), (i), (©), (v)
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29.

30.

31.

32.

33.

34.

35.

Match the following :

(@) Check-off system (i) Registered trade union
(b) Report (i) Arbitration
() Award (iii) Union subscription
(d) Political fund (iv) Conciliation
(@ (b) (o) (d)
A) (v @) @) 6
B ) @) O G
© ) @) @
D) ) @) @) 0

As per the Trade Unions Act, 1926 what is the minimum trade union membership fee
to be paid by a member in a factory ?

(A) 25 paise per month (B) 1 rupee per annum
(C) 3 rupees per annum (D) 12 rupees per annum

Which of the following is not a type of labour legislation ?
(A) Protective Legislation (B) International Labour Legislation
(C) Regulative Labour Legislation (D) Welfare Legislation

Under the Factories Act, 1948 every worker who has worked for a period of
or more in a factory during a calendar year shall be allowed during the subsequent
calendar year, leave with wages.

(A) Fulloneyear (B) 365 days (C) 250 days (D) 240 days

Funeral Expenses, Rehabilitation Allowances, Vocational Rehabilitation, old age
medicare and medical bonus are provided under which of the following social security
legislations in India ?

(A) Workmens” Compensation Act, 1923 (B) ESI Act, 1948

(C) Maternity Benefit Act, 1961 (D) Payment of Gratuity Act, 1972

After the enactment of the Workmen’s Compensation Act, 1923 a contract has been
made under which a workman relinquishes any right of compensation from the employer
for personal injury arising out of or in the course of the employment, what will be the
fate of the contract ?
(A) The contract shall be null and void
B) The contract shall remain in operation

) The Act is silent on this matter
D) None of the above

Every woman entitled for maternity benefit under the Maternity Benefit Act, 1961
shall also be entitled to receive from the employer a medical bonus of :

(A) Rs.25/- (B) Rs. 50/- (C) Rs. 250/- (D) Rs. 500/-
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29.

30.

31.

32.

33.

34.

35.

3% AT HIfT

(a) ‘= 3R goel (i) qﬁﬁ%ww
(b) TErR (i) qam?ﬁ‘
() T (iti) ST €Y I G Yoo
(d) TSI S (iv) S
@ () () (@
(A) (v) (D) (@Gv) (@)
(B) @) (@v) @) ()
(©) @) (@v) (@) @)
(D) @) (@) @Gv) @)

T @M § A G5 Aff=M, 1926 o SIER fhel T8 ol A9 98 S dl Yook
feherit <t Wi 2

(A) 259 ufd A (B) 1% ufg ad

(C) 3 %wd ufd = (D) 12 %9 wfq a9

frefafad § 9 &9 99 ST & TH THR T 82

(A) FTIEE HA (B) A=IIEE AH hITA

(C) Trams gm = (D) AT W4 BT

R TfufTem, 1948 & oT=id fusel Sheteet ad ¥ fopa fad Ik 1 ot W 3T ShelmeX
a4 H o |fed e &f S @ -

(A) T TH (B) 365 fa (C) 250 fe= (D) 240 =

TE SRR et T, ad W, e gAard, gereree, fafean gfawn qen afewa
S S g g glawmd frefataa g g S | 9 6 % oaia < T 72
(A) MR &fqgfd sifaf=m, 1923 (B) U= T st sAfuftam, 1948
(C) #ged «y AfufEm, 1961 (D) IS e sAfufrad, 1972

HIRIR &ifaygfd sifafrem, 1923 Tia 89 & a5 fordlt gfieh 3 oTo wifcre o |1 T qiian
foren fored 3u9 I8 wiaR fovan fop @™ # 39 & g gEedT 3F W a8 fohddt yaR &1 oft
gfaqfd &l A T2 | 36 TR o HHSI I Hfae T 8T 2

(A) IT HHSIT T JHT ST |

(B) I8 TRl AR BT TR A & ST=ITd ot T ST |

(C) I8 HIH 39 YR & Awel | foespet 7 7

(D) ST H ¥ FE T

AT HeTo ST 1961 3T=ITTd ¥k TR o1 HIG HeAT0T shi YT HT JTHH & HE & 3%
319 Telian & o Tafercdn SiFE oI e ot JTae= © 2
(A) 25 %9 (B) 50 T4 (C) 250 ¥ (D) 500 &9
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36.

37.

38.

39.

40.

41.

Central Advisory Board under the Minimum Wages Act, 1948 is constituted to :

(A) To advise the employers for payment of minimum wages as fixed under this Act.

(B) Co-ordinate the work of committees and sub-committees
(C) Co-ordinate the work of advisory boards
(D) None of the above

Disputes relating to retrenchment of workmen and closure of establishment come under
the purview of :

(A) Schedule I of I.D. Act, 1947 (B) Schedule II of I.D. Act, 1947
(C) Schedule III of I.D. Act, 1947 (D) None of the above

Gratuity is calculated treating a month as having the following days :
(A) 25 (B) 26 (©) 30 (D) 31

The minimum required membership for registration of a trade union according to the
Trade Unions Act, 1926 is :

(A) not less than 7 members
(B) not less than 10% of the total workmen or 100 whichever is less

(C) notless than 10% or 100 of the workmen engaged in the industry or establishment
with a minimum of 7

(D) None of the above

Match the following :

(a) Discipline (i) Payment of Wages Act, 1936
(b) Regulation of employee-employer (i) Industrial Employment
relations (Standing Orders), Act 1946
() Wage revision (iii) Industrial Disputes Act, 1947
(d) Mode and time of Payment of (iv) Minimum Wages Act, 1948
Wages
(@ (b) (o) (d)
@A) (@) @) () 0
® O @ G) (i)
© () (v O (i)
D) ) @ @) 0

Which of the following is not a principle of labour welfare ?
(A) Policing Theory of Labour Welfare

(B) Religious Theory of Labour Welfare
(C) The Philanthropic Theory of Labour Welfare
(D) Productivity Theory of Labour Welfare
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36.

37.

38.

39.

40.

41.

ATH ASIGY ST AR, 1948 W STRAI S Frsad TUHRI SIS Tfa foRall STl ©, S9! e
BT :

(A) Tkl ol el <1 foh & 39 i o et=atia Feifa fohdl T =aH TSl SRt YTaH |
(B) Hfafd aen Iuwfafai o o= T iyd & |

(C) Tor=t firet Tl H Tifad st el o sff= H-or Tenfud e |

(D) W H ¥ *E Tl

FHHANE o Herd SR G % o i Gaelt faarg f sifufem % siaria ema 2
(A) Trs[@ 1 LD, SAffaH 1947 (B) Treet 11 1 1LD. SAfIEH 1947
(C) Treya 1Ml & LD. e 1947 (D) Y H 9 HIE &

‘IS’ i U Tk HTE % oo faHl o STTER W Y it € 2
(A) 25 (B) 26 (C) 30 (D) 31

oIy HE fHfTEm, 1926 % STTHR Usited o foaw =g g feet oft 99 o dsfierr &

fer fr=fafaa # & fora gmm =few ?

(A) 7% ®H T

(B) el AfHehI ! H&AT AT 10% T 100 S ot & 2 |

(C) 39 FREM 31el I H 61w ol Gt giHRl T FHol F&A H 10% 312760 100
3T <A 7

(D) ST H ¥ FE T

frefafea = gafeaa Hifs

(a) SATAEA () wsIl gae eAfufEm, 1936

(b) TTfcTR-AeI Ty fafreme (i) SNt fase stfafm, 1946

(c) TGy Heea (iii) STENfTR foemg stfufTem, 1947

(d) WSl YIAH % 99T T§ ®9 (iv) =AaH Heigd stfufTem, 1948
@@ () (o (d)

(A) (@) @) @) @)

B) @ @) (v) (i)

© @@ @v) @ (i)

(D) () @) @v) @

freAfafed # 9 S gu-shear & fagr & §7?
(A) 95 A Hi GArET A (B) 9 ShedTul I HIfHe fagm=
(C) 95 e o WY g (D) 9H He 0l 1 SAIGehdl Hg=
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42.

43.

44.

45.

46.

47.

48.

49.

50.

Which of the following systems of wage payment a trade union will advocate which
may even be useful for the inefficient members ?

(A) Piece-rated wages (B) Time-rated wages
(C) Performance-oriented wages (D) Wages based on productivity

Which of the following cannot be said to be an extra-mural welfare facility ?
(A) Sports (B) Hospital
(C) Transport facility (D) Canteens and First Aid Boxes

Which of the following is not an agency of providing labour welfare ?
(A) State (B) Employer (C) Trade Unions (D) Customers

Which of the following is not a statutory welfare facility under the Factories Act, 1948 ?
(A) Canteen (B) Sports facility
(C) Creche (D) First-Aid Appliances

Labour Market is :
(A) Perfect Market (B) Imperfect Market
(C) Monopolistic Market (D) None of the above

Who among the following are not included in the labour force of a country ?
(A) Employees (B) Employers
(C) Domestic Servants (D) Housewives

Who among the following are not included as members of Wage Board ?
(A) Employers’ Representatives

(B) Workers” Representatives

(C) Consumers’ Representatives

(D) Economists, Wage Experts and Members of Parliament

Under which of the following theories of wages, trade unions play a vital role in wage
determination :

(A) Marginal Productivity theory of Wages (B) Wage Fund Theory
(C) Residual Claimant Theory (D) Collective Bargaining Theory

Which of the following wage differentials in India has been controlled by the enactment
of the Equal Remuneration Act, 1976 ?

(A) Occupational Wage Differentials (B) Geographical Wage Differentials
(C) Wage differentials according to sex (D) Industrial Wage Differential

-00o0-
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42.

43.

44.

45.

46.

47.

48.

49.

50.

Freferfad # | Asigl M w1 fhE Tgia sl ASigl | AT {1 S7Eeh =i Seh e
T off anefad 21 Hehl |

(A) THE TR HSIGd (B) HHA AU HSIgd

(C) wEIqE! FSgy (D) 3G ST ASIGY
frefafed § 9 fFR Taae- =R Feamn giaen & ser S 9 § 2

(A) @d (B) 3T¥qATe

(C) I ki gfaen (D) M AT GUH ITAR ST

frafafaa § @ fF9 99 Feamn Y o o1 Tk AT 21 el ST Fehdl © 2
(A) HEKR (B) HIfctsh (C) WS HH (D) TEH

HREMT AfufEm 1947 % t=ria fFefafed glawmst § @ fea giawr = st 99 weam
gforen & a1 S Hehal © 2
(A) HIA (B) HIH oI gfaen (C) RPTE (D) YuH IT=R Yo

g9 SR o ey § frafafead § 9 & w98t 72
(A) IER (B) YU ANIR (C) THIYUHd ISR (D) ST H § hIg Tal

fr=fafeaa § 9 frd fordt <91 & g9 wifer o sl wfwferd 721 foan ar €2

(A) HEEE (B) fr~® (C) e A (D) Te-ufeTal
frefafed § 9 fF 39-a1E 1 Tewrar & twria afmfad 72 fwan s g2

(A) Frise o (B) gfrhi % gfaffi

(C) Suvremstl < gfaffy (D) H-TEH, Hgd fogH o Hiwmg

Frefafed #eigll fasri 6 9 ford fagr o =i dsigd e gfshan § wsg-gei &l
TEqul YfeRt fA9™ T STaER U B 2

(A) HiHid Scargekar fagT (B) Wiy Tty fagr

(C) TR urt fagr (D) Wnfesk dicarsi fagm

frefafad 9 9 ffe geR it Al fierar sl YR waH Tigfies sifufm, 1976 < wifia
ek FEfa e &l i a6t T 72

(A) A gy (B) MiFiifeieh weigd fueran

(C) foim & smuR W Aeigd freran (D) irifies Aeigd fmra

-00o0-
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